Yr1 Maths Challenge   w/c 25th January 2021
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Annie is calculating 8  6

Which of these methods is most helpful?

Why?

 

			8  6 

												8  6 



						



						8  6 
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Annie is calculating 8 + 6
Which of these methods is most helpful?
Why!?

8+ 6=
8+ 6=

8+ 6=
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Annie, Tommy and Alex are working out which 

calculation is represented below.

Can you work out who is correct? Explain why.

First Then Now
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Annie, Tommy and Alex are working out which calculation is represented below.





















Can you work out who is correct? Explain why.







17  17  0

17  0 17

0 17  17

		First		Then		Now
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